

Wandle die unechten Brüche in eine gemischte Zahl um

1) $\frac{25}{10} = 25 : 10 = 2 \text{ R } 5$ $2 \frac{5}{10}$

2) $\frac{78}{10} = 78 : 10 = 7 \text{ R } 8$ $7 \frac{8}{10}$

3) $\frac{59}{7} = 59 : 7 = 8 \text{ R } 3$ $8 \frac{3}{7}$

4) $\frac{41}{10} = 41 : 10 = 4 \text{ R } 1$ $4 \frac{1}{10}$

5) $\frac{39}{6} = 39 : 6 = 6 \text{ R } 3$ $6 \frac{3}{6}$

6) $\frac{5}{2} =$ $\frac{\quad}{\quad}$

7) $\frac{45}{8} =$ $\frac{\quad}{\quad}$

8) $\frac{47}{7} =$ $\frac{\quad}{\quad}$

9) $\frac{73}{10} =$ $\frac{\quad}{\quad}$

10) $\frac{54}{7} =$ $\frac{\quad}{\quad}$

11) $\frac{94}{10} =$ $\frac{\quad}{\quad}$

12) $\frac{64}{11} =$ $\frac{\quad}{\quad}$

13) $\frac{72}{10} =$ $\frac{\quad}{\quad}$

14) $\frac{11}{2} =$ $\frac{\quad}{\quad}$

Lösung:

1) $\frac{25}{10} = 2 \frac{5}{10}$

2) $\frac{78}{10} = 7 \frac{8}{10}$

3) $\frac{59}{7} = 8 \frac{3}{7}$

4) $\frac{41}{10} = 4 \frac{1}{10}$

5) $\frac{39}{6} = 6 \frac{3}{6}$

6) $\frac{5}{2} = 2 \frac{1}{2}$

7) $\frac{45}{8} = 5 \frac{5}{8}$

8) $\frac{47}{7} = 6 \frac{5}{7}$

9) $\frac{73}{10} = 7 \frac{3}{10}$

10) $\frac{54}{7} = 7 \frac{5}{7}$

11) $\frac{94}{10} = 9 \frac{4}{10}$

12) $\frac{64}{11} = 5 \frac{9}{11}$

13) $\frac{72}{10} = 7 \frac{2}{10}$

14) $\frac{11}{2} = 5 \frac{1}{2}$